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7@ Linearized knot diagam

/q; R

T 1 11 10 9 2 3 6 5 4 8

4
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5,10ﬁ4ﬁ11%3%9%6%8ﬁ1%2?7%01,06

A knot diagranﬂ €4 Cio €3 €9 €5 Cg Ci1 (2
Ideals for irreducible component#ﬂ)f Xpar

I = (w4 u® 4+ fu+1)

* 1 irreducible components of dim¢ = 0, with total 26 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*4+u*®+.--+u+1)

(i) Arc colorings

0
aio = \u

1
a4 — u2

u

ann = \ud+u

w? 41
az = \y?+ 242

—u
ag = U

w41
a6 = _u2

—ud — 2u
ag = ud +u

—ud —6u” — 11u® —6ud +u
ay = w? +5u” + Tu® + 4ud +u

u?? +15u%0 + -+ 3ut + 1
az = \ —u?? — 14?0 + ... — 6u* +u?
u? +6u” + 11u® + 6u® — u
ar = \u' 4+ 7u® + 1607 + 13u® + 3ud 4+ u
u? +6u” + 11u® + 6u® —u
a7 = \ " + 700 + 1667 4+ 13u® + 3u + u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* — 4u?® — 72u?? — 68u?! — 556u?° — 492u'® — 2408u'® —
1976u!” — 6420ut0 — 4820u!® — 10888u'? — 7348u'® — 11724u'? — 6960u! — 7772u'0 —
39961 — 3012u® — 1416u” — 688uS — 388u® — 124u* — 84u® — 12u? — 4u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq W uP o tut1
C2 u?® 4+ 13u® 4+ Fut 1
C3,C4,Cs u26_’_u25_’_.._+u_~_1
€8, C9, C10
cr u?® —u® 4. —15u+ 13
c11 u?S +5u® -+ 13u+7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, ¢ Y+ 13y ey 41
Co y26+y25++13y+1
C3,C4,Cs y26+37y25++y+1
€8, C9, C10
7 y?0 — 11y*° + .. — 771y + 169
11 y?® — 7y? 4+ ... 4209y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.077128 4+ 1.0537101 —3.09394 + 2.156101 1.13399 — 4.056511
u= 0.077128 — 1.0537101 —3.09394 — 2.156101 1.13399 + 4.056511
u= 0.161363 + 1.1989201 —5.09746 + 3.389911 0.31521 — 3.083761
u= 0.161363 — 1.1989201 —5.09746 — 3.389911 0.31521 + 3.083761
u = —0.197878 4 1.2277001 —7.64978 — 8.200221 —2.78707 + 6.689791
u = —0.197878 — 1.2277001 —7.64978 4 8.200221 —2.78707 — 6.689791
u = —0.110529 + 1.2597901 —9.26319 — 0.262121 —5.31196 — 0.012601
u = —0.110529 — 1.2597901 —9.26319 + 0.262121 —5.31196 + 0.012601
u = —0.244565 + 0.6227231 —3.16465 + 0.960481 —3.09934 + 0.951751
u = —0.244565 — 0.6227231 —3.16465 — 0.960481 —3.09934 — 0.951751
u = —0.408899 + 0.5139101 —2.03162 — 6.100061 0.39307 + 8.692181
u = —0.408899 — 0.5139101 —2.03162 + 6.100061 0.39307 — 8.692181
u= 0.348180 + 0.4411881 0.20618 4+ 1.657391 4.39967 — 5.427601
u= 0.348180 — 0.4411881 0.20618 — 1.657391 4.39967 + 5.427601
u = —0.456797 + 0.1080551 —0.84040 + 3.219151 4.62809 — 2.599391
u = —0.456797 — 0.1080551 —0.84040 — 3.219151 4.62809 + 2.599391
u= 0.358117 + 0.2272251 0.833642 4 0.7610881 8.16561 — 5.137071
uw= 0358117 — 0.227225] 0.833642 — 0.7610881 8.16561 + 5.137071
uw= 0.01146 + 1.757141 —13.35510 + 2.46006.1 0. — 3.108581
uw= 0.01146 — 1.757141 —13.35510 — 2.460061 0.+ 3.108581
u = 0.04046 + 1.785411 —16.0177 4 4.28211 0. —2.027111
u= 0.04046 — 1.785411 —16.0177 — 4.28211 0.+ 2.027111
u = —0.05012 + 1.791821 —18.6999 — 9.31341 —3.16767 + 5.535841
u = —0.05012 — 1.791821 —18.6999 4 9.31341 —3.16767 — 5.535841
u = —0.02793 + 1.798841 18.9562 — 0.89601 —5.38672 + 0.1
u = —0.02793 — 1.798841 18.9562 + 0.89601 —5.38672 + 0.1




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w4+ futl
C2 u?® +13u® - tu+ 1
C3,C4,Cs u26_|_u25_~_”.+u+1
€8, C9, C10
¢ u?® —u® 4.~ 15u+ 13
cn W+ 50 4 13u+ 7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, Co YO+ 13yF 4y 1
€2 Yy +yP 4+ 13y +1
€3,C4,C5 v 3Ty 4y +1
€8, C9, C10
¢ y?0 — 11y*° + - — 771y + 169
11 Y20 — Ty? 4 4209y + 49




